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Random Topics. Form A 

1. What is the product of 𝑖(2 − 3𝑖) 𝑤ℎ𝑒𝑟𝑒 𝑖 = √−1 ?  

(A) 3 + 2𝑖 
(B) 3 − 2𝑖 
(C) 2𝑖 − 3 
(D)  5 

(E) √3 + 2𝑖 

2. The expression 
ଶ௜

ଵା௜
 is equivalent to? Note that 𝑖 = √−1 

(A) 1 + 2𝑖 
(B) 2 + 𝑖 
(C) 1 − 𝑖 
(D) 1 − 2𝑖 
(E) 1 + 𝑖 

3. Which of the following is a solution to ଶ ? 

(A) √2 
(B) 2𝑖 
(C) 4𝑖 
(D) −2 

(E) √2𝑖 
 

4. What is the number 350,000,000 in scientific notation? 

(A) 3.5 x 10଺ 
(B) 35 x 10଼ 
(C) 3.5 x 10଼ 
(D) 350 x 10ଽ 
(E) 3.5 x 10ି଼ 

5. What is the number 0.00000263 in scientific notation? 

(A) 2.63 x 10ି଺ 
(B) 263 x 10ି଼ 
(C) 2.63 x 10଺ 
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(D) 1 x 10ିଶ଺ଷ 
(E) 2.63 x 10ି଼ 

 

6. What is 3.4 x 10ହ + 9.7 x 10଺ equal to? 

(A) 10.04 x 10଻ 
(B) 10.04 x 10ଵଵ 
(C) 1.004 x 10ଽ 
(D) 1.004 x 10଻ 
(E) 1.004 x 10ି଻ 

7. What is (3.4 x 10ିଶ) (6.2 x 10଺) equal to? 

(A) 2.108 x 10ସ 
(B) 2.108 x 10ିଵଶ 
(C) 2.108 x 10ହ 
(D) 21.08 x 10ହ 
(E) 2.108 x 10ିହ 

8.  
଼.ସ ௫ ଵ଴ఱ

ଵ.ସ ௫ ଵ଴షమ  ? 

 

(A) 6 x 10଻ 
(B) 6 x 10ି଻ 
(C) 60 x 10଼ 
(D) 60 x 10ି଼ 
(E) 6 x 10ଷ 

 

9. What is the next number in the pattern below? 

0, 3, 8, 15, 24, …. 

(A) 33 
(B) 35 
(C 36 
(D 40 
(E) 37 
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10. What is the sum of the next three numbers in the pattern below? 

1, 3, 6, 10, 15, 21, …. 

(A) 95 
(B) 100 
(C 99 
(D 115 
(E) 109 

11. The sum of 5 consecutive integers is 505. What is the second number? 

(A) 101 
(B) 100 
(C 105 
(D 90 
(E) 99 

12. The sum of 5 consecutive integers is 35. What is the median of the 5 consecutive 
integers? 

(A) 5 
(B) 7 
(C) 8 
(D) 9 
(E) 3 

13. Which of the following is NOT a solution to 𝑥(𝑥 − 2)(𝑥 + 3)(𝑥 + 5) = 0? 

(A) 5 
(B) -5 
(C) 0 
(D) 2 
(E) -3 

14. Which of the following is a factor for of the expression ଶ ? 

(A) (𝑥 − 3)(𝑥 − 3) 
(B) (𝑥 − 1)(𝑥 + 9) 
(C) (𝑥 − 3)(𝑥 + 3) 
(D) (𝑥 + 1)(𝑥 − 9) 
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(E) (2𝑥 − 3)(2𝑥 + 3) 

15. Which of the following is a factor for of the expression ଶ ? 

(A) (5𝑥 + 6)(𝑥 − 1) 
(B) (5𝑥 − 6)(𝑥 + 1) 
(C) (5𝑥 − 3)(𝑥 − 2) 
(D) (5𝑥 + 2)(𝑥 − 3) 
(E) (5𝑥 − 3)(𝑥 + 2) 

16. What is the value of the expression 
ଵ଺!

ଵସ!
? Note: n!= (n-1)(n-2)(n-3)……(3)(2)(1). 

(A) 14 
(B) 16 
(C) 240 
(D) 224 
(E) 2 

17. What is the determinant of the matrix shown below?  

ቚ
8 3

−5 −2
ቚ 

(A) −1 
(B) 34 
(C) -25 
(D) -31 
(E) 31 

18. Which of the following matrices is equal to 

ቂ
9 8

−4 7
ቃ + ቂ

−6 6
5 4

ቃ 

(A) ቂ3 14
1 11

ቃ 

 

(B)  ቂ3 14
9 11

ቃ 

 

(C) ቂ15 14
9 11

ቃ 
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(D) ቂ17 0
3 9

ቃ 

 

(E) ቂ−14 86
59 4

ቃ 

19. What must be the value of a for the matrix ቂ−2 −3
𝑎 1

ቃ  𝑡𝑜 ℎ𝑎𝑣𝑒 𝑎 𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑛𝑡 𝑜𝑓 10? 

(A) -4 
(B) 4 
(C) 3 
(D) -3 
(E) 5 

20. What is the equation of the vertical ellipse( major axis is parallel to the y-axis) centered 
at (1,8) and with a minor radius of 2 and a major axis of 3?  

(A)  
(௫ିଵ)మ

ସ
+

(௬ି଼)మ

ଽ
= 1 

(B) 
(௫ିଵ)మ

ଽ
+

(௬ି଼)మ

ସ
= 1 

(C) 
(௫ାଵ)మ

ସ
+

(௬ା଼)మ

ଽ
= 1 

(D) 
(௫ାଵ)మ

ଽ
+

(௬ା଼)మ

ସ
= 1 

(E) 
(௫ିଵ)మ

ସ
+

(௬ି଼)మ

ଽ
= 13 

 
 

 

Answers 

1. A        11. B    
2. E        12. B      
3. B        13. A      
4. C        14. C      
5. A        15. D 
6. D        16. C 
7. C        17. A 
8. A        18. A 
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9. B        19. B 
10. E        20. A 


